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: Grey line: exponential fit Peak flux: 6.442+/- 1.129 c/s/cm? :
| Black line: power law + gauss fit Fluence : 30.65+/- 3.90 c/cm? |
Dashed line: power law o ' ’
— Duration: 11.00+/- 2.17 s ]
B Best fit model: 2. ]
- Best fluence model: 2. i
— Best duration model: 2. —
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= Expon.time: 2.32+/- 0.68 s (chi*-red= 1.40) =
SRy W Bt ottt Bt 8
SLL L i Hf f* Mﬁﬁﬁ bty W *# I +ﬂ:ﬁw Wﬁ“ﬁ* Wy W ﬁ#ﬁm i H*:ﬁﬁ* | **ﬁﬁ ﬁ“”*ﬂﬁ Wiy Hﬁﬂ b Wﬁ (i
= i3
; Power law fit é
= Power law index: -3.354+/- 0.637 (chi’-red= 1.39) 3
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—  Power law fit plus Gaussian (st.dev.= 20.37+/-21.26 s, fracgs= 0.01+/- 0.00) =
- Power law index: -4.328+/- 0.070 (chi*-red= 1.41) 7
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